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Solution concentration questions
1.
35.0 mL of hydrochloric acid with a concentration of 0.150 mol L-1 is made up to 100.0 mL in a volumetric flask. Calculate the new concentration.

2.
How much 3.0 mol L-1 nitric acid will be required to make 2.00 L of 
0.500 mol L-1 nitric acid?
3.
a)
Calculate the concentration of the solution made when 24.6 g of

solid sodium carbonate (Na2CO3) is dissolved in 1.5 L of water.

b)
Calculate the concentration of the solution made when 500 mL of the solution from a) is added to 1.5 L of water.
4.
Calculate the final concentration of the solution formed when 200 mL of 2.00 mol L-1 hydrochloric acid is added to 450 mL of 0.500 mol L-1 hydrochloric acid.
5.
A bottle containing 500 mL of ethanoic acid with a concentration of 
1.24 mol L-1 was left open. Water from the solution evaporated and the volume of the solution dropped by 14 mL. Calculate the new concentration of the ethanoic acid.
6.
A student was asked to reduce the concentration of a solution of sodium hydroxide to 15.0% of its original concentration. Given that he started with 250 mL of the original sodium hydroxide, calculate how much water he will need to add.

Answers

1.
0.0525 mol L-1
2.
0.333 L  (333 mL)
3.
a)
0.155 mol L-1

b)
0.0387 mol L-1
4.
0.962 mol L-1
5.
1.28 mol L-1
6.
1.42 L
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